[bookmark: _GoBack]Learning Intention: To multiply 3 digit numbers by a 1 digit number. 
 
For example,

  367
X    9
3303
  66

Try these:

293 x 6 = 



793 x 4 = 



294 x 8 = 



448 x 3 = 

Using the numbers below make different 3 digit numbers then multiply these numbers by 7. 

4          7         9          5          3 

e.g.   473 x 7 = 

         473
      X    7
       3311
         52






Match the calculations to their products. 

345 x 8 =                                                 1890
125 x 3 =                                                 2760
439 x 9 =                                                   375
378 x 5 =                                                 3951


True or False? 
562 x 6 = 3372
991 x 3 = 2793

